MA103 Lesson 39 – Modeling with Sequences II
Objectives:

1. Understand the economic concept of supply and demand.
2. Understand the concept of and determine equilibrium values. 

In-Class Problems
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Strawberries thrive along California’s coast with ideal conditions for growing year-round.  California produces 88% of the nation’s fresh and frozen strawberries, harvesting over a billion pounds of fruit annually.   While large production farms produce strawberries for the nation, many smaller scale farmers produce their strawberries for the local population.  Unlike the large production facilities where fresh strawberries that are not sold can be frozen, small scale farmers typically must sell their products on a daily basis.  
Suppose that a certain farmer has found that he can sell baskets of fruit according to the supply function:  
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1. What does the 0.5 represent in this function?  Hint: How many baskets of strawberries would the farmer try and sell if the price was less than $0.50?
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Now suppose that consumers passing by this fruit stand have a demand that is described by the demand function:  
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2. What does the 4 represent in this function?  Hint: How many baskets of strawberries would consumers wish to purchase from this farmer if the price was $4?  
3. Where are both the farmer and consumers pleased with their transaction?  Think equilibrium…

Each day the farmer must decide how many workers to hire to pick the strawberries for sale the next day.  If the price was “berry” low one day, he might choose to sell fewer strawberries the following day.  The price varies from day to day according to the following difference equation:  
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4. Describe what happens over both the short term (1-2 iterations) and the long term if the initial price is $2.00.

5. Suppose that the market is currently at equilibrium and the local government is considering waging a 30% tax on roadside stand strawberries.  Based on this tax, the demand function changes to:  
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What will happen to the equilibrium value?
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